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General Instructions :

® All questions are compulsory.

(i)  The question paper consists of 31 questions divided mto five sections A, B C Dand E
Section-A comprises of 4 questions of 1 mark cach, Section-B comprses of & gaesBions
of 2 marks each, Section-C compnses of § questions of 3 marks each and SecomeerD
comprises of 10 questions of & marks each. Section E comprises of two questrons of ¥
marks each and 1 question of 4 marks from Open Text theme.

(i) Thereisno overall choice.

(iv)  Use of calculator is not permutted.
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Question numbers 1 to & carry one mark each.
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The taxi fare in a city is as follows : For the first km, the faie |8 €10 and i the aubaeie
distance, it is ¥ 8 per km. Taking the distance covarad as y ki and total tare aa ¥ « wille g
linear equation for this information. ¢ La- VY A
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Find the point where 3x + 2y = 12 Intersects x-axis.

/3 i ABCD 31 AAPB 1 T & st AB ¥ 1 aft w0 &1 Qwe 1o om’ & @ ar (AANE) 0 w0,
Srafi e CD i filg P ¥

Square ABCD and AAPB lie on same base AR It area of spuare is Io om®, tindd ar (AAIMY
where P is a point on side CD.
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The total surface area of a cube is 726 cm”. Find the length of its edge
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Question numbers 5 to 10 carry two marks cach. A

PQRS & waitt wqy# 8, fred yan QR 1 X oMt v wnbisntong snedt €1 qulgy B ar (APQN) e 2
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PQRS is a parallelogram and X and Y trisect side QR Show that ar (AN s egual to ar
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If dtagonale of a cyclic quadrilateral are diameters of the circle through the opposite vertices

of the quadrilateral, prove that the quadrilateral is a rectangle.
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In the figure, ABCD is a parallelogram whose diagonals AC and BD meet at the point O. L
and M are points on AC such that AL =CM. Show that BMDL. is a parallelogram.
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The volume of a solid hemisphere is 1152 7 cm ' Find its curved surlace area. Vv Z
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I survey of 400 yvoungsters aged 16-20 years. It was found that 191 have their Voter Id card.

10 an adult e seleched at random, find the probability that he/she does not have his/her voter
i vand,

s PR A 1 wgfeat ol 15 waw ) Rk uw el W agsen g0 9, @ wfea F@ 2
wiftny e we wgw W

There are 13 girls and 15 boys in a line. If one student is chosen at random, then find the

probability that he is a boy.
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Question numbers 11 to 18 carry three marks each.
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A has x apples and B has y. If A gives his 10 apples to B, then number of apples left with A
will be twice of apples, B will be having then. Write this information as a linear equation in two
variables and draw its graph.

wiftato 5 =x+ 2y % o o7 ww fafag) 3

Write any three solutions of the equation 5 = x + 2y.

" @l st A, p ot Q wwi Wy ABCD ¥ fagel AC W e o @ g @1 Twive R ar 3
(APDQ) = ar (APBQ) ¥
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In the given figure, P and Q are an i i
A ¥ two points on the diagonals AC of the allelo
ABCD. Show that ar (APDQ) = ar (APBQ). ’ " o
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In the figure, two circles of radii x cm and y cm (x > y) intersect at two points P and Q
respectively. 1f the distance ‘d betwieen the centres of two circles is given by d2=x? -y,
prove that the length of the common chord s 2y cm.
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Comstruct an angle of measure 15°
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The diagonals of a rectangle ABCD intersect at O. If ZOAD = 68° , then find £BOC.

/ & & apfa 7, ABCD TR aqa 31 A, B CAdm i s vs maE W CDEEW 3
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In the given figure, ABCD is a parallelogram. A circle through A, B and C intersects D
produced at E. Prove that AD = AE,
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'Ihediameterofﬂ\eh:pofaco:ﬂca.lreservai:hnt.ﬁmu\d&pdtisllm. Find the volume of
reservoirinlil;gea.
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Question numbers 19 to 28 carry four marks each. e
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(@) 35 (b) 40°
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l.et x and y be two complementary angles. Form an equation for this information and draw its
graph. Find graphically angle of the other if one of the angles is : (-\.

(a)  35° (b)  40° ~
Y=
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Write the equations of the lines p and r in following graph :

A student answered equation of line ‘q’ as x+y=1. Did he answer correctly ? Also, find the
area enclosed between lines p, qand r. '
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Inthegivmﬁgure,PQisadjameterof&mdmk\ﬁﬂmmtmD.Hd’QR=Tﬂ'. <SPR=3" and
ZPQM =50, find .{Q‘I/’R. ,fl;Rs, ZQPM and ~QNM.
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@@ S ABC 1 T #ife, faedl £B=30°, /C = 60° aen AB + BC+CA=12cm 1
Constructa A ABC in which £B= 30°, /C=g0°
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24 STFAE, PQRS W wuW ¥, fored A, B, C 3D - VISl PQ, QR, RS i ps ¥ men-fig 1 4
2915 % AC 3R BD woem wnfywfon w0 £

and AB+BC+CA=12cm.
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In the figure, PQRS is a quadrilateral in which A, B, C and D are mid — points of the sides PQ, '
QR. RS and PS respectively. Show that AC and BD bisect each other.
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(a) A village having a population of 1500 needs, 120 litres of water per head per day. It has a tank
measuring 20 m x 15 m x 6 m full of fresh water. Due to some fault, the tank is not getting the water.

For how many days will the water of this tank last ?

(b) If the fault is not removed and there is water in the tank even after 5 days. Will you
\ 2 \
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recommend villagers to drink this stagnent and stale water ? Explain.
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A cubicle water tank is filled by tap water at the rate of 1.4 litres per second. Find the length
of an edge of the tank in centimeters if the tank is completely filled in 28 minutes.
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The height of a closed cylindrical oil tank is 6 times the radius of the base of the tank. The cost

of painting the total outside surface of the tank at £0 paisa per sq.dm is Rs 237.60. Calculate
the volume of tank upto two decimal places.

40 IF it Sl frefiefied § st et ¥ qar 3% A2 < wron F Frefn vy T ¥ |
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118 - 126 12
127 - 135 7 _ :
\
136 - 144 5 "J
145 - 153 14
A 154 - 162 2
3 T ul Agfeed w9 A A5t 9w #1 gwt wifga wa Fiie Qe T wh w o
(@) 126 mm ¥ AfuF 3K 136 mm T 19 et

(b) 126 mm R Rfyz Bft |
\, (© 154 mm ¥ &9 grf |
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The length of 40 leaves of a plant are measured in millimetres apd represented in the table
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m (in mm) | Number of leaves |

g s

18 -126 12
[127-136 & "?"1

136 -144 5

145 - 153 14

154 - 162 2 =

One leaf is plucked at random. Find the probability that the leaf plucked was of length :
(a) more than 126 mm and less than 136 mm.
(b) more than 126 mm.

(<) less than 154 mm.
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(* Please ensure that open text of the given theme is supplied with this question paper.)
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Refer to Table-2 and answer the following questions :

(i) What is the difference in FTAs from Europe and Australia for the year 20117

in FTAs from America and Africa for the year 20117

(ii) What is the difference
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(iii) ~ What was the FTA from Asia in the year 20117
a0 2011 & wew ¥ fufir i @ 0 A fadeh whz (e e §) % W < 3
Draw a bar graph to represent the number of FI'As from different regions of the m (in
lakhs approximately) during the year 2011.
31 fau-2 @ wET @ fdelt whewl 1 wRa H ST 4
(@) mﬂﬂﬁmﬁﬂmﬁﬂﬂmﬁmuﬁmaamwmaﬂ
wem e sw w fEfE |
(b) qgﬁmmwﬁwmﬁﬁmaﬂnﬁqﬁa}ﬂmwt
to figure -2 : arrival of Foreign Tourists in India
V‘( {a;f Draw a bar graph for the given data taking number of tourists on horizontal line and
- mode of transport on vertical line.
‘//@53 State the two reasons for very less number of tourists coming by sea route.
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